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ACRS Depreciation Calculator

Contents
1.1 Assumptions Goto A10
2.1 Depreciation Table Goto A21
3.1 Instructions Goto A45

Assumptions

Description of Asset:

Net Purchase cost of Asset:

ACRS Life of Asset:

Year placed in service:

Month placed in service:

Is this Asset Real Property? (1=yes,2=no)
First-Year expense available (if any):

Depreciation Table (continues to row 41)

First-Year
Year Period Expense

1982 1 $5000
1983 2
1984 3
1985 4
1986 5
1987 6
1988 7
1989 8
1990 9
1991 10
1992 11
1993 12
1994 13
1995 14
1996 15
1997 16

Instructions

1) Enter Assumptions Goto A10
2) Recalculate by typing F-9
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3) Save by typing {alt-S}
4) Print by typing {alt-L}
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Sheet 2.1
Depreciation Remaining
Expense ITC Basis
$585.00 $390.00 $3,315.00
$858.00 $2,457.00
$819.00 $1,638.00
$819.00 $819.00
$819.00 $0.00
$0.00 $0.00
$0.00 $0.00
$0.00 $0.00
$0.00 $0.00
$0.00 $0.00
$0.00 $0.00
$0.00 $0.00
$0.00 $0.00
$0.00 $0.00
$0.00 $0.00
$0.00 $0.00
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ACRS Depreciation Table

Year Percent

1 15.0%
2 22.0%
3 21.0%
4 21.0%
5 21.0%
6 0.0%
7 0.0%
8 0.0%
9 0.0%
10 0.0%
11 0.0%
12 0.0%
13 0.0%
14 0.0%
15 0.0%
16 0.0%
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